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ros = 6371880 A fi / FUN. 4,,
Gos = N[Pi x (90 - 37.3749) / 180] , e
$os = N[Pi % (-117.9802) / 180] . \

ouf - 6371880 | ﬂY'ﬁ (

our - ©.918481 Q.z, Pi?”p 1w

ou = -2.0591/ | U,\a AN |

nf ]= Xpg = ps * S'in[ebs] Cos [¢DS]

Yos = I'ps * SiN{6ps] Sin[¢ps] -L}\J?/\[

o fod
Zps = rps + Cos [Opg] { A/ @5_ I\;Z&J ¢ ) L
% o

ouf = -2.37568 x 10°

g p
ow 1= ~4.47172 x 10° CM’, dd;joﬁ(w AN . )\

ouf = 3.86791 x 198 Ugl j ‘
1= Ten ﬁse/ /' ug’/@ ¢ /{ @S
A !

8w = N[Pi » (90 - 37.4087) /180]

L |
écw = N[Pi « (-117.9285) / 180] /\Lm |0‘/ 4
ou )= 6372650 &
7 (

oui j= 0.917891

" J;AW’

inf-]= XcM = Few *s‘in[eCM] Cos [¢CH] Q‘) é‘ \/.J
Yeu = Few * Sin[Bcu] Sin[écn] l bs 1
Zey = ey * Cos [Gc"] r

%

ouf ) -2.37086 x 10° /7(’ »7[,9 5 A
ulf |= . L ‘& )

our )= -4.47239 x 10° (07(
o - 3.87136 x 16° @FF J’

duinear = SArt[ (Xew - Xos)? + (You - Yos) m / ]Q‘/ )
.= 5966.03 - \//[L J)

= /i 0P

deurvitinear = SArt [ (row - ros) + ros® (8cu - 80s) > + ros® Sin[@ps1* (dcn - bos) *] 3
5966.47
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